
Solution for  PHYCS 102 Test II dated 28/11/2000 
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2. The upper loop:                                           16V 

2I1  +   5I2   =  16   ∴I1  =  3A    2 Ω        a 
I3   =   I1  -  I2   =  1A                                      I1

                2 Ω  
The lower loop:            3 Ω               
-2I3  +  5I2  =  ε     V8=∴ε                        Ι3           Ι2  = 2Α              b 
  Vab  =  2I1   +   3I2  =  12V 
  or
  Vab = -2I2    +  16  =  12V     2 Ω                          ε  
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         C   =  C1   +   C2    =  24.78   PF 
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  c.    E   =   ρJ    =   0.778   V/m 
  d.   n  =  D  Nav /A    =   6.29    x  1022/cm3

        J   =  nevd ,   vd = 1.38 mm/s 


